CQ1:

How many operators will be executed?

sum = 0; /|

n = 1; /| N

while (n(<)10 (& =<5
sum = sum + n; / < * 3times.
Nn=n+ 2; /2%34mes.

A <= 20
B 21..25
D 31..35
E >= 306
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Data Size alil = *(A+7) 2 operationS

What is the number of operations executed for this implementation?

int sum_array(const int a[], int Aen) { Indices ase 0.(,2, ..., n-.
int sum = 0; /| n
inti=0; , /| - o |
while (i < den) { /I *(N+D)times 3=0,1, . n-l.n

sum = sum + al[il; /4xn +mes
i = l + 1, //Z“* YU -times .
}
} retlrn sum; [+ [+ (len+t1) + 4len + 2len = Flen+3

The running time depends on the length of the array.

- If there are n items in the array, it requires 7n -+ 3 operations.

We are always interested in the running time with respect to the

size of the data.
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Bart just wants to count the total number of odd numbers in the

entire array.

bool bart(const int a[], int len, int e, int o) {
int odd_count = 0; int7=0; /2
for (iat=i—==0; 1 < len; t=i==1) { /¥ ")
odd_count = odd_count + (ali] % 2); /=5 ¥)
Y A=kl 2% N
return (odd_count >= 0) && (len - odd_count >= e);/4

AN+ +En+2n+4 =3n+¥
If there are n elements in the array, T'(n) = 8n + 7.

Go i array onee  regardless of Ts content
A ponstant # of cperations 167 ench element

Remember, you are not expected to calculate this precisely.
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Homer is lazy, and he doesn’t want to check all of the elements in
the array if he doesn’t have to.

bool homer(const int a[], int len, int e, int o) {
// only loop while it’s still possible
while (len > 0 & e + 0 <= len) { //'cm/g start Tf-m/#qffe(gwwzi’ #s
if (a[len - 1D % 2 == 0) { // even case: 7 N more than # of

Start from if (e > 0) { dements h &
e back of e=¢e - 1; // only decrement e if e > 0
e aray } |
} else if (0 >0) { / ol @e (i we bae more odd #5 4o tnd,
0=o0 - 1: | decrement 0. )
}

if (e==06& 0==0) { / szhmxyﬁum%ewaq% even & odd #s
return true; ‘

len = len - 1; /g pe eement .
?
return false;
}
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